SPECTRUM

EN assembly instructions for Spectrum sofa Bo3 / Bo4
DE Montageanleitungen flir Spectrum sofa Bo3 / Bo4
FR Instructions de montage pour Spectrum canapé Bo3 / Bo4

HR Upute za montazu Spectrum sofa Bo3 / Bo4

_VER.03

09_2024




BO3 / BO4 ARMCHAIR 2,5SEATER 3SEATER 3,5SEATER 2SEATER +
w82 xd83xh78 w167 xd 89 xh78 w206 xd 89 xh78 w245 xd 89 xh78 CHAISE LOUNGE
w 32/4" x d 32V/a" w 32V/4" x d 343/4" w 81" x d 34%/4" w 96%/4" x d 34%/4" W 245 x d 89 x h 78
w 96%/4" x d 59%/4"

M6x16

Number of screws per leg:
Anzahl der Schrauben pro Bein:
Nombre de vis par pied:

Broj vijaka po nogici:

ALLEN WRENCH KEYS
INBUSSCHLUSSEL

CLES ALLEN
IMBUS KLJUCEVI
4 & 5 mm

EN | FABRIC MAINTAINANCE - SAFETY STRIPE FOR HOOK & LOOP
When removing the upholstery, cover the hook & loop with safety fabric stripe.
DE | SCHUTZBAND MIT KLETTVERSCHLUSS

Schitzen Sie beim Abnehmen des Bezuges den Klettverschluss mit den mitgelieferten Bandern

FR | ENTRETIEN DU TISSU - BANDE DE PROTECTION VELCRO

Lors du retrait de la housse, protégez le Velcro a I'aide des sangles fournies.
HR | ZASTITNA TRAKA ZA CICAK

Prilikom skidanja navlaka, zastiti i¢ak koristeci priloZene trake.




ARMREST / ARMLEHNEN / ACCOUDOIRS / RUKONASLON

T

] L
AO3 HP 4 X 2 X @W\W\W o
B M6 x 16 M8 x40 ¢

EN | ARMREST SET - chaise lounge

DE | ARMLEHNENSET - verlangerter Teil

FR | ENSEMBLE D'ACCOUDOIRS - partie allongée
HR | SET ZA RUKONASLON - produZeni dio

- B 2 2

M6 x 16 M8 x40

%*

ADDITIONAL SETS / ZUSATZLICHE SETS / ENSEMBLES SUPPLEMENTAIRES / DODATNI SETOVI

EN | If the sofa contains an chaise lounge, set hidden leg.

DE | Wenn das Sofa einen verlangerten Teil enthalt, achten Sie auf das versteckte Bein.
FR | Si le canapé contient une partie allongée, surveillez le pied caché.

HR | Ukoliko sofa sadrzi produzeni dio, monitrati skrivenu nogicu.

T 2 x| 1 x \

M6x16

w



EN | SETTING THE BO3/BO4 LEGS ON

THE ARMCHAIR

Legs on armchairs are mounted differently
compared to other modules, closer to the
edge of the armchair, towards the outside.
Turn the backrests of the sofa on a soft
surface to mount the legs. If the legs Bo3 /
BO4 are mounted, follow the illustrations. One
leg must be attached to the sofa structure
with screws M6x16. To make sure that the Bo3
/ BO4 legs are correctly positioned, it is
important to fasten the leg through the holes
marked in the illustration.

DE | MONTAGE DER BEINE BO3/BO3 AN SESSELN
Die Beine von Sesseln sind anders als bei
anderen Modulen montiert, naher an der
Kante des Sessels, nach aufien. Drehen Sie die
Rickseiten des Sofas auf eine weiche
Oberflache, um die Beine zu montieren. Wenn
die Beine BO3 / BO4 montiert sind, folgen Sie
den Abbildungen. Ein Bein muss mit Schrau-
ben M6x16 an der Sofastruktur befestigt
werden. Um sicherzustellen, dass die Beine
BO3 / BO4 richtig platziert sind, ist es wichtig,
die Beine durch die in der Abbildung markier-
ten Locher zu befestigen.

———

FR | FIXATION DES PIEDS BO3/BO4 SUR FAUTEUILS
Les pieds des fauteuils sont montés différem-
ment des autres modules, plus prés du bord
du fauteuil, vers l'extérieur. Retournez le
dossier du canapé sur une surface douce pour
monter les pieds. Si les pieds Bo3 / BO4 sont
montés, suivez les illustrations. Un pied doit
étre fixé a la structure du canapé avec des vis
M6x16. Afin d'étre slr que les pieds BO3 / BO4
sont correctement placés, il est important de
fixer le pied a travers les trous marqués sur
lllustration.

HR | MONTAZA NOGICA BO3/BO4 NA FOTELJE
Nogice na foteljama montiraju se drugacije u
odnosu na ostale module, blize rubu fotelje,
prema van. Okrenuti naslone sofe na meku
podlogu kako bi se montirale nogice. Ukoliko
se montiraju nogice BO3 / BO4 pratiti
ilustracije. Jedna nogica mora biti pri¢vrS¢ena
za kontrukcije sofe vijcima M6x16. Kako bi bili
sigurni da su nogice BO3 / BO4 pravilno
postavljene bitno je pricvrstiti nogicu kroz
rupe oznacene na ilustraciji.

Pogled odozdo / Bottom view




EN | SETTING THE BO3 / BO4

LEGS ON BASIC MODULES

Turn the backs of the sofa on a soft surface to
mount the legs. In order to be sure that the
BO3 / BO4 legs are correctly positioned, it is
important to fasten the leg through the holes
marked in the illustration. Each leg must be
fixed to the sofa with at least 3 screws, use
M6x16 SCrews.

DE | MONTAGE DER BEINE BO3 / BO4

AUF GRUNDMODULEN

Drehen Sie die Ruckseiten des Sofas auf eine
weiche Oberflache, um die Beine zu montie-
ren. Um sicherzustellen, dass die Beine b03 /
b04 richtig platziert sind, ist es wichtig, die
Beine durch die in der Abbildung markierten
Locher zu befestigen. Jedes Bein muss mit
mindestens 3 Schrauben am Sofa befestigt
werden, verwenden Sie M6x16-Schrauben.

FR | ASSEMBLAGE DES PIEDS BO3 / BO4

SUR MODULES DE BASE

Retournez le dossier du canapé sur une
surface douce pour monter les pieds. Afin
d'étre sCr que les pieds bO3 / b0O4 sont
correctement placés, il est important de fixer
le pied a travers les trous marqués sur
I'llustration. Chaque pied doit étre fixé au
canapé avec au moins 3 vis, utilisez des vis
me6x16.

HR | MONTAZA NOGICA BO3 / BO4

NA OSNOVNE MODULE

Okrenuti naslone sofe na meku podlogu kako
bi se montirale nogice. Kako bi bili sigurni da
su nogice BO3 / BO4 pravilno postavljene bitno
je pricvrstiti nogicu kroz rupe oznacene na
ilustraciji. Svaka nogica mora biti u¢vrs¢ena za
sofu minimalno s 3 vijka, koristiti vijke M6x16.




DETAL) 1/ DETAIL 1 DETAL) 3 / DETAIL 3

DETAL) 2 / DETAIL 2

T —

/

DETAL) 5 / DETAIL § DETALJ 4 / DETAIL 4

DETAL) 6 / DETAIL 6 DETAL) 7 / DETAIL 7|

@ Prvo uevrstiti vijak kroz srediSnju rupu

@ nNa kraju, ucvrstiti vijcima kroz “1” utore.

® Firstly set the screw through the central hole.

@ At the end, set the screws through “I” profiled slots




MONTAZA NOGICA BO3 / BO4 NA PRODUZENI DIO / ASSEMBLING THE BO3 / BO4 LEGS ON CHAISE LOUNGE

Okrenuti naslone sofe na meku podlogu kako
bi se montirale nogice. Ukoliko se montiraju
nogice BO3 / BO4 pratiti ilustracije. Jedna
nogica mora biti pricvri¢ena za kontrukcije
sofe vijcima mM6x16. Kako bi bili sigurni da su
nogice BO3 / BO4 pravilno postavljene bitno je
pri¢vrstiti nogicu kroz rupe oznacene na
ilustraciji.

DETALJ 1/ DETAIL 1

DETAL) 2 / DETAIL 2

DETAL) 5 / DETAIL§

Turn the backrests of the sofa on a soft
surface to mount the legs. If the legs Bo3 /
BO4 are mounted, follow the illustrations. One
leg must be attached to the sofa structure
with screws M6x16. To make sure that the 803
/ BO4 legs are correctly positioned, it is
important to fasten the leg through the holes
marked in the illustration.

DETAL) 3 / DETAIL 3

DETALJ 4 / DETAIL 4

DETAL) 6 / DETAIL 6 DETAL) 7 / DETAIL 7

0 o
2




EN | CONNECTING THE CHAISE LOUNGE

@ Turn the backrests of the sofa on a soft
surface to install the connector. The larger
part of the connector is set on the chaise
lounge (on the left in the illustration), the
smaller part on the 2,5 seat module. Fasten in
the sofa modules using a screw.

@ Pass the screw through the threaded hole
transversely to tighten the modules.

DE | VERBINDEN DES VERLANGERTEN TEILS

© Drehen Sie die Rickseite des Sofas auf eine
weiche Oberflaiche, um den Stecker zu
installieren. Der grofiere Teil der Kupplung
wird am ausgefahrenen Teil Uberwacht, der
kleinere Teil am Modul 2,5 Platze. Befestigen
Sie die Sofamodule mit einer Schraube.

@ Fuhren Sie die Schraube durch das Gewind-
eloch, um die Module festzuklemmen.

L gxap 2

M6x16

FR | CONNECTER LA PARTIE ETENDUE

@ Retournez le dossier du canapé sur une
surface douce pour installer le connecteur. La
plus grande partie de l'accouplement est
surveillée sur la partie étendue, la plus petite
partie sur le module 2,5 places. Fixez les
modules du canapé a l'aide d'une vis.

@ Passez la vis a travers le trou fileté pour
serrer les modules.

HR | SPAJANJE PRODUZENOG DIJELA

@ Okrenuti naslone sofe na meku podlogu
kako bi se postavila spojnica. Veci dio spojnice
monitra se na produzeni dio, manji dio na
modul 2,5 sjeda. Ucvrstiti u module sofe
koristeci vijak.

® Popreko kroz navojnu rupu provudi vijak
kako bi se stegnuli moduli.

S

" 2SS




A

W

4

e

1%

4%
X

X

N

4

> &)

K%

FIRST FULLY TIGHTEN ONE SCREW!

ZIEHEN SIE ZUNACHST EINE SCHRAUBE FEST AN!
SERREZ D'ABORD COMPLETEMENT UNE VIS!
PRVO DO KRAJA STEGNUTI JEDAN VIJAK!

N

AFTER THAT, TIGHTEN THE SECOND SCREW!
DANN DIE ZWEITE SCHRAUBE FESTZIEHEN!
PUIS SERREZ LA DEUXIEME VIS !

NAKON TOGA STEGNUTI DRUGI VIJAK!




EN | CONNECTING THE ARMRESTS

All types of armrests (AO1, A02, AO3) are
mounted on the same principle. Put two
screws M6x16 on the outside in one bracket,
screw M8x40 on the opposite side to fix the
bracket for the armrest. Follow the illustration
to properly connect the armrest to the sofa
module.

DE | VERBINDUNG DER ARMLEHNEN

Alle Armlehnentypen (A01, A02, AO3) werden
nach dem gleichen Prinzip montiert. Setzen
Sie zwei Schrauben M6x16 aufden in eine
Halterung ein. Befestigen Sie die Halterung fur
die Armlehne mit einer M&x40-Schraube,
schrauben Sie die Schraube auf der
gegeniberliegenden Seite der M6x16 fest.
Befolgen Sie die Abbildung, um die Armlehne
ordnungsgemafd mit dem Sofamodul zu
verbinden.

x

x 8)( 2)(

FR | RELIER LES ACCOUDOIRS

Tous les types d'accoudoirs (A01, AO2, AO3) se
montent sur le méme principe. Mettez deux
vis M6x16 a I'extérieur dans un support. Fixez
le support de I'accoudoir avec une vis M8x40,
vissez la vis du coté opposé du M6x16. Suivez
lllustration pour connecter correctement
I'accoudoir au module canapé.

HR | SPAJANJE RUKONASLONA

Svi tipovi rukonaslona (A01, A02, A03) montira-
ju se na isti princip. U jedan nosac staviti dva
vijka M6x16 sa vanjske strane. Vijkom mM8x40
ucvrstiti nosac za rukonaslon, vijak uSerafiti sa
suprotne strane od M6x16. Pratiti ilustraciju za
pravilno spajanje rukonaslona sa modulom
sofe.

10



/

INSERT
EINEUGEN
INSERER
UMETNUTI

0.
Om

4% M6 <16

)
@WW

2% M8 %40

m



prostoria

HEADQUATERS & PRODUCTION
Pustodol Zacretski 19

49 223 Sv. Kriz Zacretje
Croatia, Europe

PROSTORIA SHOWROOM CHICAGO
222 W Merchandise Mart Plaza,
3rd Floor, Suite 381

Chicago, IL 60654, US

= info@prostoria.eu
www.prostoria.eu



